Time and Work

Important Rules and Formulae

Rule 1 If a person can do a piece of work in " days he will

1
do - of the werk in one day.
n

eg. If Sneh can do a piece of work in 20 days, then she will do
1f20ch of the work in one day.

1 .
Also, 1if Ra) can do ‘Tﬁth of work in a hour, then he can finish

the work in 10 h,

Rule 2 If a number of persons doing a piece of job is
increased (or decreased) in a certain ratio, the time needed to
do the same work will be decreased (or increased) in the same
ratio.

Example 1. Raj can do a piece of work in 20 days and
Rohan can do it in 12 days. How long will they take if both
work together?

1 1 1 1
5-5d b) 7 — days (c) 3-days (d)9_ days
ta}zaysilzy{dzy - day
1
l. (b} Raj day’ k= —
Sol. (b) Raj's one day's wor =
Rohan’s one day's work =T‘5

1 1 +5 8
. (Ra; + Rohan)’s one day's work = 5_'5 Frp—— 3_ =

12 60 60
s Mumber of day's taken by Raj and Rohan topether to
complete  the work
&0 1
= — days or 7= days
g 2
Example 2. 24 men can complete a given job in

40 days. Then, the number of men required to complete
the job in 24 days is

(a) 20 men (b) 24 men

(c) 32 men (d) 40 men
Sol. (d) Here, we have to complete the job in less days so more

men should be employed.

So that work =24 % 40

and in case second =24Kx

So, 243 40=24% % = x =40 men

5. AandBcandoa piece of work in 72 dags

le
Examp in 90 days. In what time

8 andC in 120 days and AandC

A alone do it?
5 (b) 100 days

E:; ??nd;::.r; {dj} None of these

Sol. (d) One day's work of A andB= = |
One day'’s work of BandC= T;.}a i)
One day's work of AandC= E‘-*_Tﬂ i)

On adding Egs. (i), (i) and (iii), we have
1 1 1 1
day” kol A +B4+0)=—+—+—=—
EERRISAS 0=t % 0
1 1
- One day's work of (A+ B +()=——=—

Jox2 60
A's one day's work Sl S b
60 120 120

Hence, A alone will complete the work in 120 days.

Rule 3 If Rajeev is twice as good as a workman as Sudi
then Rajeev take one half of the time taken by Sudhir to doi
certain piece of work,

—————

Points to be Remember

D In the problems related to time and work it is always cons’
that a man works at uniform rate.

9 Wages for a piece of work are paid in proportion to the work 0% |
by the workers. el i

2 1 'm’ men or ‘n’ women can do a piece of work in ‘g’ days, he't |
men and y women can do the same work in
o mxa nxd -~

Example 4. 4 . twice : v
‘ d workman as
together they finish a pieceai-fg::;rk Tﬁ“? days. In I
many days A alone finish the work?

(a) 18 days  (b) 21 days (c) 27 days (d) 3! dﬂ:f

Sol.  (b) Here i .
d 15 TwiC i day’s
AandB=2.1 € as good as B so ratio of 1d3¥

(A+BJs 1 day's work = -
14

i 1
Divide — § i
e v I the ratio 2 : 1, we get



2 1 1
WOrK = =% — = —
)" As v days 3714 2

sln, A alone can finish the work in 21 days,

gxample 5. If 3 men or 4 women ¢

43 days how long will 7 men and 5 wom
(a) 3 days (b) 7 days
(c) 12 days (d) 15 days

Sol. (c) Here, 3 men's work = 4 women's ik

an reap a field in
en take to reap it?

can rea ] of the field i
st ]
3 men P ey in 1 day.
i i
21 man reaps Eﬁ of the field in 1 day,
1 of th i
4 Wornen'reap —--of the field in1 day.

: L of the field i
~ 1 woman reaps-{ﬁa the field in 1 day.

AL
-~ 7 men and 5 women reap | — + 2| of i
(129 = the field in 1 day or

lzoftheﬁe!d in 1 day.
1

.7 men and 5 momen will reap the whale field in 12 days.

Rule 4 (For problems on pipes and cistern)
if there are two taps A and B taken ‘a’ and ¥ hours, respectively

to fill a tanker, then the two taps together fill (l +%] part of
a

the tank in an hour and the entire tanker ic filled in

ab
—— hours.
at+b

Example 6. Pipe A can fill a tank in 45 h and pipe B
can fill it in 36 h. If both the pipes are opened in the
-empty tank. In how many hours will it be full?

(@) 10 h (b) 15 h
€20 h (d) 28 h

Sol. () Parc filled A in 1 h=;15-

1
Part filled by Bin 1 h=—
I y B in %
Part filled by (A + B) together in 1h

1 1
=—f —
45 36
eI
180 20
: -+ The tank will be full in 20 h.
Shortcut Method .
The tank will be filled when both A and B pipes are open in
| 45 %36
45436
—: 162—'} =20 h
81
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Points to be Remember
O If a pipe fills a tank in *2* howrs, thenin 1 h onlby L of the tank is filled,
o

O If a pipe can fill a tank in & hours and another can empty the Niled
tank in &, hours, then in one hour a—l——T of the tank 15 filled ¢
)

[when bath pipes are open) and time taken will be [: ’*-;—
: s

} hours.

Rule 5 1fa pipe can fill a tank in @’ hours and anothier can fill
the tank in %' hours but a third pipe empties the filled tank in

) . 1 1 1
¢ hours, then in one hnur(-— +£ —-]af the tank will be filled
c

@
(when all the three pipes are open) and time taken to fill the
tank will be hours.
+ac—ab

Example 7. Two pipes ‘A’ and ‘B’ can fill a tank in
36 min and 45 min, respectively. A waste pipe ‘C’ can
empty the tank in 30 min. First A and B are opened. In how
much time the tank is full?

{a) 60 min (b} 90 min

(c) 115 min {d) None of these + |

1
Sol. (a) Part filled by pipe A in 1 min= -

| =

Part filled by pipe B in 1 rin =

i

i
. Total warer dropped in the tank in 1 min = 53 + Ll Ir
3G 45 |
: 1 ]
Water leaked out in1 min by C= 5

2, Total tank filled in min=—-4 =L 2 3+5=6_ 1
45 36 30 180 Gl

Hence, the tank will be filled w1 60 mun,

Shortcut Method
Here, @ =38,b=45¢c=30
So, time taken to fill the tank will be =

albx
ac 4+ b —ab
36 4530

" 36 %30 +45 X 30 — 36 X 45
Points to be Remember
M| B| H1 ? ﬂ, H:
0 ——=—t_t_< where M, M, are the number of men, 0, D, the
WW,, W W, '
number of days, Hy, H, are the number of hours, W, W, are the works
and W, W, are the wages.
o If M, men had provision for £, days and alter P, days, M. men joined
or left, then the provision, now lfast for D days. 1s given as

Enw (+ it men joined, - il men left),

= &0 min

My £ M,
B If x, men or y, women can reap a frelltl in 0 Days, then x, men and y;
. Ky=
women would reap it in ———t ' days

x2y|+ Xy Vs



10.

-

. Ravi alone does a piece of work in 2 days and Rajesh

does it in 6 days. In how many days will the two do it
together?

1
[a) IE days [b) 4 days () 2 days  [d) 3 days

. X can do ;i of a work in 12 days. In how many days X

can finish the 1/2 work?

(a) B days  (b) 16 days [c) 12 days  (d) 24 days

. Ravi can build a wall in the same time in which

Mahesh and Suresh together do it. If Ravi and
Mahesh together could do it in 10 days and Suresh
alone in 15 days. In what lime Mahesh alone do it?
(al 30 days (b) 40 days
(c) 50 days (d) 60 days

. Four taps can individually fill a cistern of water in 1 h,

2 h, 3 h and 6 h, respectively. If all the four taps are

opened simultaneously, the cistern can be filled in how

many minutes? {cDs 2011 1)
fc) 35

(a) 20 [b) 30 (d) 40

. 7 men and B boys can do a piece of work in 2 days.

4 men and 12 boys can do 29/56 of the same work in
1 day. In how many days will 1 man do this work?
[a) 24 days (b) 25 days
(c) 27 days (d) 28 days

2 men undertake to do a job for ¥ 1400. One can do it
alone in 7 days and the other in B days. With the
assistance of a boy they finish the work in 3 days. How
should the money be divided?

[a) T 600, T 525, T 275 (b) ¥ 550, ¥ 500, ¥ 350

(c) ¥ 650 T 470 T 280 (d) None of the above

A group of workers engaged in plastering a wall
completed 5 of the work in one day and 7 of the

remaining work the next day. If still 45 sq m of wall
remained to be plastered. What was the area of the

wall? _
(a) 300 sq m [b) 120 sg m
[d) 180 sg m

(c) 240 sg m
‘X' completes a job in 2 days and 'Y’ completes it in
3 days and 'Z' takes 4 days to complete it. If they work
together and get ¥ 3900 for the Job, then how much
amount does 'Y' get? (CDS 2011 1)

(a) 1800 (o) T 1200 (c) 2900  (d) 7 800

In an army camp ration is available for 100 soldiers for
10 days. After 2 days, 60 soldiers joined. Then, for how
many more days will the remaining ration last?

(CDS 2009 11)
() 7days (b) 6days  [d) Sdays  (d) 4 days

A and B can do a piece of work in 8 days, B and C can
do the same work in 12 days. If A, B and C can
complete the same work in 6 days. In how many days
can A and C complete the same work? (CD§ 2009 1)
(a) 8 days  (b) 10 days (o) 12 days  (d) 16 days
]

11.

Exerclse B can separately fill a tank i 5

12,

13.

14.

15.

16.

17.

18,

19.

21

- Aand B can do given work in 8 days;

-

' (a) 67

; d
Two pipes A an
and 15 min, respe
together. But 4 muni A

ctively. Both the pipes are
fter the star{ pipe A is mrneﬂm”
How much time it will take to fill the tank?

(3) 11 min (b} 6 min (d) 8 mig
jece of work in 24 days. If B is 609,
:} ;:igndtuﬂ?ﬂﬁ A, then B can complete the wor 0
(b) 18 days () 15 days  (d) 12 gy

x -

i ici A’'s wages for 21
amount is sufficient to pay : L dgy
2:.1-:1 B's wages for 28 days. The amount is sufficiey

pay wages to both for
(a) 22 days  (b) 26 days

(a) 17 days

1
(c) 24 days d) 12 days [

The mess charges for 35 students for 24 days

7 6300. In how many days will the mess charges|,

? 3375 for 25 students? (CDS 2004
fa) 12 (b) 15 [c) 18 (d) 21

A. B and € working together take 30 min to addres;;
pile of envelopes. A and B together would take 40 m,
A and C together would take 45 min. How long would
each take working alone?

{3) A : 72 min, B : 90 min, C : 120 min

(b) A : 42 min, B : 90 min, C : 120 min

(c) A:72 min, 8 : 90 min, C : 100 min

(d) A : 72 min, B : 80 min, C : 120 min
Ravi and Sneh working separately can finish a jobi
8 and 12 h, respectively. If they work for an hoe
alternately, Rani beginning at 9:00 am. When will
job be finished?

(a) 7 :30 pm (b) 7 : 00 pm(c) 6 : 30 pm(d) 6: 00
If m men can do a job in p days, then (m + r) men (@
do the job in how many days? (coS 200 M

@ p+r) ) TP g P il
m=+r !

(d) —
m+r P

42 men take 25 days to dig a pond. If the pond "‘m:
have to be dug in 14 days, then what is the n“mhau
men to be employed? (cps 20

(b) 75 (c) 81 (d) 84
Ram can do a piece of work in 6 days and Shya® 4
finish the same work in 12 days. Hu}':r.r much work o
be finished, if both work together for 2 days?
{cps

(a) One-fourth of the work  (b) One-third of the wot

(c) Half of the work (d) Whole of the work
BandC ﬂ; ¥
the same work in 12 days and A, B, C W“'Pl.ﬂegﬂ
6 days. In how many days can A and C fin®

(@) 12 (o) 8 () 14 G
If a work can be com s an
. pleted by A in 30 days 2 q¥
in 60 days. Then, the number E[ days taken bY =
complete the work, working together is

(@) 25 b4  @so @2

w !}




24,

27.

1.

1.

|_ 21,
3.

22.

. 76 ladies complete a job in 33

pandamndoajnbin‘lda}r

\ 5. Q and R can do it
days and P and R in 12/5 days. What is the numh-el:l:f
days required for P alone to do the job?

S 3 o e 1067 (605 2008 )

. days.
reason some ladies did not join the w]{:srk l::: ti:nerf;:lr:

it was completed in 44 days, The Diimber
did not report for the work is °5£E§"‘EE,‘:’*.‘E

(@ 17 (b) 18 [c) 19 (d) 20

A and B can complete a task in 30 i
together. A.Eterl A and B have been \Sc?r}l;sin\;htin :tﬁ;ﬁg
11 days. B is ralled away and A all I:.t'gErl him Ellf-
completes the task in next 28 days. Had A h:e
working alone, the number of days taken by him tn
complete the task would have been °

3 1
(a) 47> (b) 42— (o 53l d) st
n 3 = (d) 4413
1 .
Iﬁ of a work is completed in half a day by 5 persons.
1
Then, 20 of the work can be completed by 6 persons in

how many days?
(a) 1 (b) 2

(CDS 2010 1)
CE (d) %

L ]
9 men finish one-third work in 10 days. The number of
additional men required for finishing the remaining
work in 2 more days will be

(a) 78 (b) 81 (d) 55 (d) 30

If 10 persons can do a job in 20 days. Then, 20
persons with the twice efficiency can do the same job
in

{a) 10 (b) 20 fe) 5 (d) 15

A person walks a distance in 114 days, when he rests
9 h a day. How long will he take to walk twice the
distance, if he walks twice as fast and rests twice as
long each day as before? (CDS 2009 N)
(a) 57 days  (b) 228 days (c) 285 days (d) 324 days

Consider the following statements
1L If 18 men can earn I 1440 in 5 days, then
10 men can earn ¥ 1280 in 6 days.
I.If 16 men can earn ¥ 1120 in 7 days, then
21 men can earn T 800 in 4 days.

30.

31.

32,

33.

34.

35.

36.

37.
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Which of the above statements isfare correct?

(a) Only | (6) Only I (cos 2011 1)
(c) Both | and Il (d) Neither | nor Il

If one man or two women or three boys can do a piece
of work in 55 days, then one man, one woman a.ml; one
boy will do it in how many days? (CDS 2008 1)
(a) 20 days (b) 30 days () 40 days  (d) SO days
If x men can do a work in z days. Then, the number of
days taken by [x + y) men to do this is
) b) @ (x + y)z (d xlx + y)
x+2) (x+y) x ] z

A person can do a job as fast as his two sons working
together. If one son does the job in 6 days and the
other in 12 days, how many days does it take the
father to do the job? (CDS 2007 I

(al 9days (bl 6days (o) 4 days  (d) 3 days

If 18 men earn ¥ 1440 in 5 days, how many men can
earn ¥ 1920 in B days? (CDS 2007 N}
(a) 10 (b) 12 (c) 15 (d) 18

A can finish a work in 8 days and B can do it in
12 days. After A had worked for 3 days, B also joins A
to finish the remaining work. In how many days will
the remaining work be finished? (CDS 2007 1)

B 2days (b} 3days () 4days  (d) 5 days

A cistern normally takes 5 h to be filled by a tap. But
because of a leak, takes 1 h more. In how many hours
will the leak empty a full cistern?

a) 12 h {b) 30 h fe) 15 h {d) 8 h

A garrison of 'n' men had enocugh food to last for
30 days. After 10 days, 50 more men joined them. If
the food now lasted for 16 days, what is the value of n?

{CDS 2011 1)
(al 200 (b} 240 {¢) 280 (d) 320

A, B and C can do a piece of work individually in 8, 10
and 15 days, respectively. A and B start working but A
quits after working for 2 days. After this, C joins B till
the completion of work. In how many days will the
work be completed? (CDS 2011 W}

{a) 53/9 days

{e) 35{13 days

(6) 34/7 days
(d) 53/10 days

Answers

| 5. (d 6. (a) 7. (b) B. (b) 9. (c) 10. (a)
B oz@ e B @ €@ o wo® 19 200
O 2@ 3 2@ e 2O 2@ BE  BE@ 0O
® a2() 8.( @b B0 x@ I



Hints and Solutions

6. Let the boy completes the work in x days, thus a"*‘“fdinh

1

1. Amount of work done by Ravi = - the condition NE
*1 e
Amount of work done by Rajesh =rE : ?1 81 _JE'.._ i
1 2 7= 168
Total amount of work done by both =l me x 3 87
2 6 3 168
3 1 F'ﬁ'd""
- Borh will take = days or 1- da _ .
: g : " 50, money is to be shared in the ratio
1 ot h
2. +- X can do > of work in 12 days. 1;11-—ur2‘i+11+”
4 7'8 168 4
- X cando 1 work in 124 days. Thus, A's amount 53‘:" 1400= 1Y 600
21 3
- X can do 1 work in 1241 =8 da!,ls B's amount =—x1400=T 525
2 Ix2 56”
3. Here, let days taken by Ravi, Mahesh and Suresh be A BandC Boy's amount = % ®1400= T 275
I TR ;
EZE"‘E w4 7. Let 'd be the area to be plastered.

3 i P | 1 X
and AR (i) Here, the work completed on the first day = Em’ the wed
and 1zl el complete on the second day

g =lxdal
From Eqs. (i) and (iii) %2 8

L (iv) X X 2

A B CTH X—E-E=45x=12‘0m
From Egs. (i) and (iv) 111
- B I VI 8. Ra[ioufworkdﬂneby)(,YandZ:E:;:E=6:4:3

A 10 15 6
Subtracting Eq. (iv) from Eq. (i), Mow, ratio in their amount =6:4:3
2.0 1 1 4
—S———=—, B=60 s ParrofYs= %3900="7 1200
B 1w 15 30 E+4+3 %0
iti days.
tahesh alone do it I:I 60 days. y 9, g Days
4. Required time = = 100 8
%"’%"‘%"‘é E+3+24] 160 xl /
160 8 8x1
] ] : i L ays
=Ehcr1—2-xﬁﬂ=30mln 1 X
10. Number of days taken by A and B to do the work =8
5. Ler the man does it in ‘g days and the boy in ¥’ days.

7.8_1 0 Number of days taken by B and C o do the work = 12

- = - ekl 4

a b 2 Asandﬂ’sunedaywnrk=l

4 12_29 - 1

-—t—=— ()] . 1

a b 56 Blﬂndc’sungdaywﬂrk.__‘_

Fromn Eqs. (i) and (i} 2 ;

E_z_g_zzg N Number Drdﬂy’s taken b:l'r.lﬂl.’.’}. B.rs and c.rs to do the I,\'Cﬂ’

b 8 8 A’s,B's and C's one day work = L
Put in Eq. (i} ) & y

7y2al B's one day work= 1 4 1L _1_ 1
e 2 2 8 12 6 24
znl_lul;.guzg A‘sandc’snnedaywmk=l-l =i=l

a5 % 6 24 24 8
So, 2 man will do it in 28 days. Hence, A and C can do the work in 8 days.

|




11.

12.

13.

14.

15.

part of tank filled by A in a minute L

12
part of tank filled by B in a minute - g
15
. Total pare filled in a minute =_1.+.l=1
12 15 20
Part filled in 4 min :-—__.‘i X3 =E
20 5
N - -t 3 2
ow, remaining part =1-2=2%
5 §
.. Greater part, Maore time
1
—.‘E::I:x
15 5
= -’-‘*—3:@ =5
5 g x=6min
A's one day's work = s
24
w01 1

- B's one day work = 1smanr_-
24 100 24 15

=B will take 15 days to finish the work,
Let the total amount be x,

Here, A’s one day's wage = 21

B's one day's wage = —

A's and B's wages —«-—+i=-5-
21 28 1
~ The amount is sufficient to pay 12 days wages to both.
By given condition,
35%24:25 X x::6300:3375
= 35X 24 % 3375=25 X x X 6300

- x=35x24x33?5 -t ;
25 % 6300
Te iy .
Here, —4—t—=— i)
A B C 30
2 10 i
A B 40
Lol (i)
and s o e
A C 4 B
From Egs. (i) and (ii),
1.3 A1
C 30 40 120
o [l % A S
A 45 C 4 10 72
T~ 1 1_j__l_1
B 40 A 40 72 90

So, A alone will address in 72 min, 8 alone mll.address in
90 min, C alone will address in 120 min.

1 .
16. Capacity of Rani and Sneh per hour = . and = respectively.

; 1o 1=2 perh
~Toual work done by them in 1 h*‘-"'.Ii 24 e

g
-

17.

18.

19.

20.

21.
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g
=~ Full work = |x?3=9 h, then % of work will left and now

turn is of Sneh. Sneh will do the remaining work in 30 min.
Total tme taken=2 h and 30 min
Time=9+9h and 30 min=18:30 h=6:30 pm

Men
[mn::-r]r 5]

Let x be the number of men o be employed.
Men Days
42 25
X l 14
x 25

—=— = x=75
42 14

Since, Ram can do a plece of work in & days.
.~ One day’s work of Ram = ;

Shyam can finish the same work in 12 days.
. One day’s work of Shyam =1—12~

Hence, one day's work together, Ram and Shyam
it 1 B o |

612 12 12 4

-{';I.Tvm day's work together=-

Ti'n.ls. if they work together for 2 days, then half of the work
will be complete.

(A+BJs 1 day's work =%

{B8+0C)s 1 day's wurk=1—1£
(C + AYs 1 day's work )
X

S(A+B+C)s 1day's mrk:%[%+

(1]=1 LR
6) 218 12] 2
1 1 (1 1) R
= _—mmm | —p— ===
x 3 \8 12) 24 8

So,C and A can do the work in 8 days.

: Sl |
—
12 x]

A's one day's work = S
30

B's one day's work = a3
60

S (A +BYs one day's work
1% .1
=—t—=—
3 60 20
= Both Aand B working together can complete the job in
20 days. \ . .




__v___
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22,

23.

24.

26.

CDS Pathfinder

One day work of P's and (J's =-§ A1)

One day work of Qs andRs = % (i)

One day work of P's and R's =%
On adding Eqs. (i), (i) and (i), we get
1.%. 5 14
P+Q+R==+=-+—=20P+Q+R)=—
R 2 4 12 BFQER 12

7
= P+Q+R=— v
Q 3 (iv)

On subtracting Eq, (ii) from Eq. {iv), we get
pmtatap=]
12 4 3

Hence, P's can do alone in 3 days.
Given, number of ladies, W, =76

The number of days to complete the work, b,=33
Let number of ladies who did not report for the work = x
By given condition,

Wy=76-x and D, = 44
W,D,=W,D,
M6x33=(76—x)x 44

7
= ?6-12-*6—:E=19><3=>x=?6—5?=19
(A +B)s one day's task = —

< [A+BYs 11 day's rask =£

"« Remaining work = l-ﬂ:E

30
: . ;
3—3 waork is done by A in 28 days.

Whole work will be done by A =28 20 = 46— days
19 19

e

(by formula)
W,
1
Sx— =x5x 48
‘—1:% = [)1= =j-
LA 1 0x6 2
8 40

Time taken by 9 men to finish the job =30 days.

. 1.2
Remaining job=1—-=-
“ 3 3
More work left so more men required (direct proportion)
[Less days, more m. . (indirect proportion)]
Work l:?-y'.:ﬂ:x
33
Days 2:10
=§x 1ux9x3x§=9ﬂ men

Required men = 90— 9= 81

(D)}

27. Let the number of days be x.

Here, efficiency is 2:1-
Person 20:10
Number of days 20:X

- 1x10%X20 _ g gays

20x2
28. Distance Speed ~ Hour per Day  Speed
1 1 15 1141
(I ;
1:2
2:1 14
6:15
IX2IX6EXx=2XIX15X 114
2x15x%114
= " X6
= x =285 days
29. | Since, 18 men, in S days can earn =¥ 1440
1440

1 in 1 day can ealn =¥ ——
man, | Y 18%5

144
.~ 10 men, in 6 days can eam:-—uxﬁxm
18 %5

=960+ 1280
Il. Since, 16 men, in 7 days can earn =7 1120
1 man, in 1 day can earn =ﬁ
16x7

<+ 21 men, in 4 days can earn = 1"2{} X214

6x7
=¥ B840 T 800
30. 1 man=2 women =3 boys

A 1 man + 1 wuman+1buy=3bays+i boys +1boy
2

Boys Days
3 55
)
2 X

= iz_a_

ix2
= Jf=-—_”—3<55=3{}da}r5

31- Hﬂﬂ! mare men‘ I'E'SE da . . ;
: ¥s 50 ind
Let number of days taken now b';*’;‘ proportion.
(x+y)ix=z:d
= g

Xty

32. One day's work of first son =

) 12
*+ One day's work of them working together

1.1 247
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< In 4 days father will finish the work.
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18517 = mxBg
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i L 1
One day's work of A's= El:h part
1
One day's work of B‘s=-1—2th part
o 3
3 day's work of A's= Eth part

Remaining work of Als=1- % = E th part
8

Together one day's work of A's and B's = la +1l
2
315
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. : 5
Mumber of days to finish the work = E - 2%_: 3 days

Time and Work

35. Part of cistern filled in one hour =%

36.

37.

Part of cistern empteed in one hour -=%

1
. Net fillings of cistern in one hour=-— % = — part

2 The cistern will be full in 30 h.
By given condition, nX30=nx 10+ (n+50) % 16

8OO
= 20n=16n+ 800 = n=T=2m

Let the work complete in x days.
= By given condition,
2. x x=2

15+1Dx-&=

&0
10x +7=560

- 1Dx=53=u=%fiaﬁ
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